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Computer Science and Mathematics 
Summer term 2019 
 
Exercises  4 
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    (b) Give a geometrical description of the linear mapping   xAx
r

a
r ⋅    

          which is associated to A. 
 
 
 
2. Determine the results: 
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3.  Evaluate the following determinants: 
 

(a)   |                   |    
 
(b)                    
 
 
 
 
 

a+b     2b 
 2a     a+b 

 2   0   8   1 
 5   3   1   6 
 7   0   2   0 
 1   0   0  –1 
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4. For which of the following pairs of matrices is their product defined? 
    In these cases, calculate the resulting matrix. 
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